


Figure 1 shows a cell
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(d) There are 1000 micrometres (μm) in a millimetre (mm).

The length of the cell in Figure 1 is 1.5 micrometres (μm).

Give the length of the cell in millimetres (mm).
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(f) Calculate how many cells will be present after 2 hours.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

Number of cells = ____________________

(2)
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(1)
(Total 12 marks)
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(c) Human stem cells can develop into many different types of human cell.

(i) Use the correct answer from the box to complete the sentence.
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(b) The figure above is highly magnified.

The scale bar in the figure above represents 0.1 mm.

Use a ruler to measure the length of the scale bar and then calculate the magnification of

the figure above.
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(d) What is the advantage of using the type of microscope you named in part (c)?

Tick one box.
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(f) A red blood cell is 8 µm in diameter.

A bacterial cell is 40 times smaller.

Calculate the diameter of the bacterial cell.
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(b) The magnification of the cress root in the image above is × 200.

There are 1000 micrometres (μm) in a millimetre (mm).

Calculate the real length of the root hair, X.
Give your answer in micrometres (μm).
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(e) The concentration of mineral ions in the soil is lower than in root hair cells.

Root hair cells take up mineral ions from the soil.

Root hair cells contain mitochondria.

Explain why root hair cells contain mitochondria.
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